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If he made them =p5:; then according to either 29 or ®Ryaw, it is
considered a 712.

Overview

The & 13 is discussing the case of a 1291w 12°X1 P> (after 72 notified him to
remove them), that he is 2’11, for we derive it from a Mwn 7% of M1 M2. The
X7mx challenges the need for the mw: 7%; for if the owner was 7 pon the nd
12Xy, the 210 can be derived from 712 alone'. Mmoo will explain why the
X713 (presently) assumed that it is similar to 712.

nooIN asks:
— N1YY ND1IDT (x,0377) N3NN 19PY ¥YHIWN NN 9NN ON)

And if you will say; that it is indicated later in 122257 275 that all agree if -
— V97 DIN NYI9) ANNY 1713 PPN

One makes his liabilities 9p2:7 after they accidentally fell, that he is =D -
— D195 YW RY NWYY NYIVIY 123327 NN DIN 123 INM

And here too it should be considered an accident, for he was not negligent

at all in building the wall or planting the tree. He is only liable for the fact that it
fell (which was 01%32). Why should the 122X 5m15:7 %92 be 2°1; since the owner was 7°pon
the P> after it fell 011827!

Mo0IN answers:
— VI NN DTN AP 1P XDV NINDDY \IPD 1NNV 1195 990 U

And one can say; that since 7"°2 warned him to chop down the tree or to
dismantle the wall in order that they should not cause damage, and since

the allotted time passed and he did not comply, he is therefore negligent -
NIV NY93 INNY 29093 159919 1)

And he is considered as one who is 9%pp» his pr1 after they fell due to
his negligence, where he is 21 for their damage.

Summary
Not obeying an order of 7"°2 turns a 01X N?°01 into a 7Y Wo.

Thinking it over

How do we differentiate between mo0I1n question (that it is a 01X n?°51 since
initially he was not negligent) and the actual X270 in the X713 that it is not
P1I% IN»wy nYnn?

! See the following M2 171 7"7 MooIN for a discussion of how the damage of 19X >mM>71 took place.
? The marginal gloss corrects this to read "pra'.
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